Options :

212807127657. 1
212807127658. 2
212807127659. 3
212807127660. 4
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Question Number : 536 Question Id : 21280732801 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Jethalal started a business of readymade garments for women. In order to gain better insight on
tastes and preferences of his target market, he started to approach his target market ie, ladies of
age-group of 20 - 40 by using the platform of social media. Identify the “Trend’ followed by Jethalal .
(1) Read Trend
(2) Talk Trend
(3) Think Trend
(4) Watch Trend

Options :

212807131201, 1

212807131202 2

212807131203. 3
212807131204. 4

Question Number : 536 Question Id : 21280732801 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807131201. 1
212807131202. 2
212807131203. 3
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212807131204. 4

Question Number : 537 Question Id : 21280732802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following factors is not be included in “PESTEL’ analysis ?
(1) Political Changes

(2) Socio-cultural aspects

(3) Ecological Issues

(4) Competitive Activities

Options :

212807131205. 1
212807131206. 2
212807131207. 3
212807131208. 4

Question Number : 537 Question Id : 21280732802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

frefafigd A € a1 a3 wa (A0S @ & 2 ) favoro & s 8§ wive 75 82
(1) usHifae aftad
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(3) urfifearfient g8
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Options :

212807131205. 1
212807131206. 2
212807131207. 3
212807131208. 4

Question Number : 538 Question Id : 21280732803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Arrange the following in sequence for the steps involved in idea and opportunity assessment.

(A) Application and use
(B) Cost

(C)  Product identification
(D) Competition

(E) Level of operation

Choose the correct answer from the options given below :

(1) (O (A), (B) (D), (E)
(2)  (©), (A), (D), (E), (B)
(3) (O, (A), (E) (D), (B)
(4) (O, (A) (E) (B), (D)
Options :
212807131209. 1
212807131210. 2

212807131211. 3
212807131212. 4

Question Number : 538 Question Id : 21280732803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (©, (A), (B), (D), (E)
(2) (O (A), (D). (E), (B)
(3) (©), (A) (B), (D), (B)
8 (O, (A), (B) (B), (D)

Options :

212807131209. 1

212807131210. 2

212807131211. 3
212807131212. 4

Question Number : 539 Question Id : 21280732804 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Innovation is the process of entrepreneurship which involves the translation of a useful idea into
an application which has commercial value. Arrange the process of innovation in sequence.

{A) Resource organisation
(B) <Commercial Application
{C) Analytical Planning

(D) Implementation

Choose the correct answer from the options given below :
N (A ©), B) D)

2 ©. &) D), B

(3) (O (A) (B), (D)

(4) (©), (B), (A). D)

Options :

212807131213. 1

212807131214. 2

212807131215.3
212807131216. 4

Question Number : 539 Question Id : 21280732804 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (A ©, (B), D)

(2) (O, (A), (D), (B)

(3) (O, (A). (B), (D)

4) (©), (B), (A), D)

Options :

212807131213. 1
212807131214.2
212807131215. 3
212807131216. 4

Question Number : 540 Question Id : 21280732805 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Creativity provides stimulus for opportunity discovery and new venture creation. Arrange the
following process of creativity in sequence.

(A) Verification

(B) Stage of new ideas

(C) Mumination

(D) Assimilation of information

(E) Preparation

Choose the correct answer from the options given below :

(1) (B) (), (&), (O), (D)

(2) (B) (E), (O). (D), (A)
(3) (B} (E) (D), (O), (&)
4 (B) (E), (O, (A), (D)
Options :

212807131217. 1
212807131218. 2
212807131219.3
212807131220. 4

Question Number : 540 Question Id : 21280732805 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1)  (B), (E), (A), (O), (D)

(2)  (B) (E) (O (D), (&)
(3) (B (E) (D) ), (A)
(4)  (B) (E), (O (A) (D)

212807131217. 1
212807131218. 2
212807131219.3
212807131220. 4

Question Number : 541 Question Id : 21280732806 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value
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Arrange the following form of business organisation from smallest to biggest on the basis of expansion

under normal conditions.

(A) Partership

(B) Sole Proprietorship

(C) Private limited company
(D) Public limited company

Choose the correct answer from the options given below :

1) (A ), ©). 0)
(2) (D) (©), (A), (B)
(3)  (B) (A) ©), (D)
#4) (©), B), (D), (A)

Options :

212807131221. 1
212807131222.2
212807131223.3
212807131224. 4

Question Number : 541 Question Id : 21280732806 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

spEgr dmed % e ey &t ged g9 § 98 % %9 | safeg w1

(A) R
(B) wnfuey
(C) it fafre o
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(1) (&) ®), (©), )
(2) (D) (©, (A) ®)
(3) (B} (A), (©), ()
(4 (©. @) D) @A)
212807131222

212807131223.3
212807131224. 4

Question Number : 542 Question Id : 21280732807 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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A direct sale by a company of its securities to a limited number of investors is called :
(1) Initial public offering

(2) Rights issue

(3) Private Placement

(4) Preferential Shares

Options :

212807131225. 1
212807131226. 2
212807131227.3
212807131228. 4

Question Number : 542 Question Id : 21280732807 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807131225. 1
212807131226.2
212807131227.3
212807131228. 4

Question Number : 543 Question Id : 21280732808 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Select the odd one out in case of funding in venture capital

{1) They may invest in one in four hundred opportunities presented to them
(2) Notlooking for rapid growth

(3) A well developed business model

(4) Looks for an exit in the fime frame of typically 3-7 years

Options :

212807131229. 1
212807131230. 2
212807131231.3
212807131232. 4

Question Number : 543 Question Id : 21280732808 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807131229. 1
212807131230. 2
212807131231. 3
212807131232. 4

Question Number : 544 Question Id : 21280732809 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

The inifial cost of making a product is Rs. 1 lakh and variable cost per unit is Rs. 40. If its selling
price is Rs. 80 per unit, what would be the break-even quantity ?
(1) 2,500 Units
(2) 3,500 Units
(3) 5,000 Units
(4) 7,000 Units
Options :
212807131233 1
212807131234.2

212807131235.3
212807131236. 4

Question Number : 544 Question Id : 21280732809 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e SIS M ) YRS T01a 1 o $92 © 3 ufterr otvre 40 vud gard &1 9 gaant fase) g 80
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(1) 2,500 STEHi
(2) 3,500 Al
(3) 5,000 yehidai
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Options :

212807131233. 1
212807131234.2
212807131235.3
212807131236. 4

Question Number : 545 Question Id : 21280732810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Key Value
Comprehension MCQ

It is the order quantity of inventory that minimizes the total cost of inventory management.
(1) Economic Order Quantity

(2) Recorder point
(3) Carrying cost
(4) Operating cycles
Options :

212807131237 1

212807131238.2

212807131239.3
212807131240. 4

Question Number : 545 Question Id : 21280732810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
g g = O & S g weeE o H T S e {1
(1) o7 sha HEn
(2) T sew fg
(3) @™ AP
(4) e 9%
Options :

212807131237. 1
212807131238.2
212807131239.3
212807131240. 4

Question Number : 546 Question Id : 21280732811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Estimate the Return on investment when an owner spends Rs. 50,000/~ fo open a shop and make
a net profit of Rs. 3000 in one year.

(1) 10%
(2) 50%
(3) 5%
(4) 100%

Options :

212807131241. 1
212807131242. 2
212807131243.3
212807131244. 4

Question Number : 546 Question Id : 21280732811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value
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(1) 10%

(2) 50%

3 5%

(4) 100%

Options :

212807131241. 1
212807131242. 2
212807131243.3
212807131244. 4

Question Number : 547 Question Id : 21280732812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Financial plan does not include the following :
(1) Proforma Balance Sheet
{2) DBreak-even Analysis
(3) Fund flow statement
{4) Analysis of competitors profile
Options :
212807131245. 1
212807131246. 2

212807131247.3
212807131248. 4

Question Number : 547 Question Id : 21280732812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
fercfar zivorn F Frerferfa whte =8 §

(1) ey o o3t
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(3) Teret wanrg fererco
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Options :

212807131245. 1
212807131246. 2
212807131247.3
212807131248. 4

Question Number : 548 Question Id : 21280732813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value
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From the given diagram of cash conversion cycle for trading business, find out missing one.

Cash

Debters

{4) Raw material stocks

(1

(3) Sales
Options :
212807131249. 1

212807131250. 2
212807131251. 3
212807131252. 4

S

Stock of
goods

)  Finished Goods
(2) Work in progress
)

Question Number : 548 Question Id : 21280732813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807131249. 1
212807131250. 2
212807131251.3
212807131252. 4
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Question Number : 549 Question Id : 21280732814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A merger that takes place between two business organizations that deal in products that are related
to each other and operate in the same market.
(1) Conglomerate merger
(2) Market extension merger
{3) Product extension merger
(4) Vertical extension merger
Options :
212807131253, 1
212807131254. 2

212807131255.3
212807131256. 4

Question Number : 549 Question Id : 21280732814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807131253. 1
212807131254.2
212807131255.3
212807131256. 4

Question Number : 550 Question Id : 21280732815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

is a type of franchise that provides an organization with the right to manufacture a
product and sell it to the public.

(1) Business Franchise opportunity venture
(2) Product Franchise business opportunity
(3) Manufacturing Franchise opportunity
(4) DBusiness format Franchise opportunity

Options :
212807131257. 1
212807131258.2
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212807131259.3
212807131260. 4

Question Number : 550 Question Id : 21280732815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807131257. 1
212807131258.2
212807131259. 3
212807131260. 4

Question Number : 551 Question Id : 21280732816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Pranav is an entrepreneur producing LED lamps with brand name “Lavells”. These lamps are in
great demand. He finds that the cost of production per unit of lamp is ¥ 1600 and he can sell the
same at ¥ 2000 per lamp. The competitors in the market are selling this type of lamp at the rate of
< 2400. Pranav’s objective is not to earn profit in short run but to capture the largest market share.
His expectation is that the customers will be attracted towards the new brand because of lower
price. Identify the method of pricing adopted by Pranav to capture the substantial portion of the
market.
(1) Cost plus pricing
(2) Penetration pricing
(3) Skimming pricing
(4) Variable pricing

Options :

212807131261. 1

212807131262. 2

212807131263. 3
212807131264. 4

Question Number : 551 Question Id : 21280732816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807131261. 1

212807131262.2

212807131263. 3
212807131264. 4

Question Number : 552 Question Id : 21280732817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Subash started with a franchise of AMUL Milk products. His business could not pick up and sales
were too less to cover operating expenses. Which of the following reasons could be a cause of
business failure ?

(1) Adequate knowledge

(2) Appropriate location

(3) Lack of industry experience
(4) Sound business planning

Options :

212807131265. 1
212807131266. 2
212807131267. 3
212807131268. 4

Question Number : 552 Question Id : 21280732817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807131265. 1
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212807131266. 2
212807131267. 3
212807131268. 4

Question Number : 553 Question Id : 21280732818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The bitten apple has because the graphic symbol of unique identity of all products of Apple Inc. It
gives instant recognition of the company. The above statement describes the concept of

(1) Brand name

(2) Trade mark

(3) Logo
(4) Tagline
Options :

212807131269. 1
212807131270. 2
212807131271.3
212807131272. 4

Question Number : 553 Question Id : 21280732818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) e
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Options :

212807131269. 1
212807131270. 2
212807131271.3
212807131272. 4

Question Number : 554 Question Id : 21280732819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Mukesh has created a new brand of clothes for babies below the age of 5 years. He wants to use
below the line strategy. Which method he must not use under below the line strategy.

(1) Sales promotion

{2) Personal selling

(3) TV Ads

(4) Direct marketing

s collegedunia:

-



Options :

212807131273. 1
212807131274. 2
212807131275. 3
212807131276. 4

Question Number : 554 Question Id : 21280732819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TRV A 5 | FH IH & gl 6 Ty FU o Tk A9 wie w9 €98 W@ % A sy weifa % wea 5@
T fafr o1 ooy T/ e =few

(1) T =1 9=R

(2) safarma fasel

(3) S s

(4) v fague
Options :

212807131273. 1
212807131274. 2
212807131275.3
212807131276. 4

Question Number : 555 Question Id : 21280732820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

For the selling of customised products the marketing process requires, which channel of distribution
from the following ?

(1) Producer - Consumer

(2) Product - Wholesaler - Retailer - Consumer

(3) Producer - Agent - Retailer - Consumer

(4) Producer - Retailer - Consumer

Options :

212807131277. 1
212807131278.2
212807131279. 3
212807131280. 4

Question Number : 555 Question Id : 21280732820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

s collegedunia:
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Jeurs Y Tkt & e sifvergs Wik P wleen =6 sraedsman @t §) Fretfafiaa @ - faaan &1 wrerm
87

(1) Jedrges - SUAERT

(2) I - often Tersht - gew Sl - Sy

(3) Sedress - Afvrepel - WU el - Iy

(4) SEUREH - GEU A - SUNIRT

Options :

212807131277. 1
212807131278. 2
212807131279.3
212807131280. 4

Question Number : 556 Question Id : 21280732821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

It creates cost control and cost reduction pressures from the start, leading to greater efficiency.
The statement is an advantage of which pricing methoed :
(1) Costplus pricing
(2) Penetration pricing
(3) Creaming pricing
(4) Variable pricing
Options :
212807131281. 1
212807131282. 2

212807131283.3
212807131284. 4

Question Number : 556 Question Id : 21280732821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

% UF & T Tt ofk amm | ot o <o o €, o sifires geren W @ B
ug wu fara yeu Frbon wght w1t wv ¥

(1) @ snfus geu Tt

(2) oiadyT goa fgku

(3) ehIft Your o

(4) =FTge fukm

Options :

212807131281. 1
212807131282. 2
212807131283.3
212807131284. 4

Question Number : 557 Question Id : 21280732822 Question Type : MCQ Option Shuffling : No Is Question Mandai
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

s collegedunia:

-



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the correct explanation for proforma investment decisions :

(1) It summarizes all the projected sources funds available to the venture to raise finance from
(2) Itrelates to how the enterprise’s funds are invested in different assets

(3) Itis the projected net profit calculated

(4) It reflect the projected cash available with the enterprise

Options :

212807131285. 1
212807131286. 2
212807131287. 3
212807131288. 4

Question Number : 557 Question Id : 21280732822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

yreg e Frofll & wd erfien +6) uge =Y
(1) e T 2 % forw wam ¥ forg sverey wdY sigaifoa el 1 e Far ¥
(2) g3y s § geiftra ¥ Re sea F e o fofier dufued § 359 fde e o @

(3) % ST YE AN HY A §
(4) uE T F Uy Sotsy ufEierel Y o) i wutar &

Options :

212807131285. 1
212807131286. 2
212807131287.3
212807131288. 4

Question Number : 558 Question Id : 21280732823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The document should be in written form and duly signed by the partners, stamped and registered.
Identify the document.

(1) Memorandum of Association

(2) Common seal

(3) Articles of Association

(4) Partnership deed

Options :

212807131289. 1
212807131290. 2
212807131291.3
212807131292. 4

Question Number : 558 Question Id : 21280732823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

s collegedunia:
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Question Key Details :

Key Value
Comprehension MCQ

e g Tafign w9 fafuem w0 & el g s, geitea ofk defiga dim & | <eads &1 wgam
Exd

(1) g ¥ afrfEy

(2) frmym

(3) Hem % sfaftug

(4) e faee

Options :

212807131289. 1

212807131290. 2

212807131291.3
212807131292. 4

Question Number : 559 Question Id : 21280732824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A Private Company is :
{1) A voluntary association of a person formed for same common object.
(2) An organisation controlled by Hindu Law
(3) Which has a minimum of two and a maximum of fifty members excluding its past and
present employees
(4) Has minimum seven people to commence with no upper limit to membership
Options :
212807131293, 1
212807131294. 2

212807131295.3
212807131296. 4

Question Number : 559 Question Id : 21280732824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

(1) safradl 1wk e gnaw, Riger frefo we ararg steg 3 faggen 2

(2) e o o fafer g o e &) werfy swe 9 i o § A v fedes

(3) 3a% fa ol wdar F wedenfedl =0 Srewy sud wman & oiiv sifrsan warg weer €9 Ak

(4) Feh gE A F fw 2yFen g Al Y suavasar 9t § qen gewa F fow el el da
Trerfeo =df @an

Options :

212807131293. 1
212807131294. 2
212807131295.3
212807131296. 4
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Question Number : 560 Question Id : 21280732825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A detailed plan describing, planning details that are needed by management but may not be of
interest to external stakeholders. The above lines describe :
(1) Elevator pitch
(2) An internal operation plan
(3) A written presentation for exfernal stock holders
(4) A pitch dick with oral narrative
Options :
212807131297. 1
212807131298. 2

212807131299.3
212807131300. 4

Question Number : 560 Question Id : 21280732825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e fasga e ot o Frirer w1 fasga Toreor 26t 8 don Towen) waeq =t sraversmar 8l 8, wig o
feaumeent % fore wmag weed = wEar 811 Suds e frfafiga § @ 99 @ s it wad sreg afifa w5t
8?

(1) uferde fugy

(2) ek AfE Terametier A

(3) wned el 1 fafaa wegfa

(&) witfiess Fur & e wr fre foe

Options :

212807131297. 1
212807131298. 2
212807131299.3
212807131300. 4

Question Number : 561 Question Id : 21280732826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one of the following items is not the element in the Innovation process ?
(1) Analytical Planning

(2) Organizing of Resources

(3) Destruction of Ideas

(4) Implementation of Plans
Options :

212807131301. 1
212807131302. 2

s collegedunia:
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212807131303. 3
212807131304. 4

Question Number : 561 Question Id : 21280732826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Fretferfiad 4 @ $v-ar fawa Tarar wiwn o ae w82
(1) dveifus Frirm
(2) el H1 gareE

(3) Terandl o Temre
(4) el S ki
Options :

212807131301. 1
212807131302. 2
212807131303. 3
212807131304. 4

Question Number : 562 Question Id : 21280732827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Ways to spot trends does not include :
(1) Read trends
(2) Talk trends
(3) Think trends
(4) Act trends
Options :
212807131305. 1
212807131306 2

212807131307. 3
212807131308. 4

Question Number : 562 Question Id : 21280732827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

wferdi 1 Fafied &0 % adrel § w0 woafera 18 32
(1) g3 1 wgfelw=er

(2) dred w5 wghieiyEeE

(3) dran R W W wgfedlaaed

(@) Fraved & R vgfwived

Options :

212807131305. 1
212807131306. 2
212807131307. 3
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212807131308. 4

Question Number : 563 Question Id : 21280732828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

An airline is planning to expend over the next 5 years. As per the PESTEL factors Engine efficiency
of the new aircraft being planned will come under :

(1) Political factor

(2) Economic factor

(3) Socdial factor

(4) Technological factor

Options :

212807131309. 1
212807131310. 2
212807131311. 3
212807131312. 4

Question Number : 563 Question Id : 21280732828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TS FaTE-SIETS FUET SRS Ui ol § S H Y A o Y B | U R I IS SR 3R SRR U
el <6t A Foews sierfa sameeft ?

(1) TsHifas wRE

(2) e e

(3) wrfSTeh wHILes

(4) TR HRR
Options :

212807131309. 1
212807131310. 2
212807131311. 3
212807131312. 4

Question Number : 564 Question Id : 21280732829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Formulation of strategies and policies is a part of :
(1) Elements of a business opportunity

{2) Importance of environment

(3) Problem Identification

(4) Factors for sensing opportunities

Options :
212807131313. 1
212807131314.2

s collegedunia:
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212807131315.3
212807131316. 4

Question Number : 564 Question Id : 21280732829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

il o Al = Frean s e
(1) I & 3l & o
(2) wEEN @ HE
(3) EHEM W] UgIH
(4) H9 sTaud FH HRF
Options :
212807131313. 1
212807131314.2

212807131315.3
212807131316. 4

Question Number : 565 Question Id : 21280732830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following in sequence to exploring opportunities in environment.
(A) Creativity and ideas

(B) Innovation and product

(C) Opportunity spotting

(D) Project Business

Choose the correct answer from the options given below :
(1 (&) (B), (), (D)

(2) (O, (&), B), (D)

(3) (B) (©), (A) D)

4) (&) (©), D), (B)

Options :
212807131317 1
2128071313182

212807131319.3
212807131320. 4

Question Number : 565 Question Id : 21280732830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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TEw 4 3y Y @ & w9 frerfafiag = srefen w51

(A) HoFRHSd R frEr
(B) TR 3R 3oy
(C)  STETR H TN
(D) WEHEY SR

9 feu o fersredi § A W8 39T F A Fifvw

(1) (&) (B), (), D)
2 ©, &), B), D)
(3) (B, A) D)

8 (A) (O, (D) (B)
Options :

212807131317. 1

212807131318.2

212807131319. 3

212807131320. 4

Question Number : 566 Question Id : 21280732831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following constitute internal analysis while scanning the environment ?

(A) Strengths

(B) Weaknesses

(C) Opportunities

(D) Threats

(E) Legal environment

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C)and (D) only
(4) (D) and (E) only

Options :

212807131321. 1
212807131322.2
212807131323.3
212807131324. 4

Question Number : 566 Question Id : 21280732831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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AR % goH g9 % fore Frerfafed § @ o 8 o sifaftes el w6 18T e €2

(A) &Hd
(B) Teleren
(C) ST
(D) @aq
(B) ey arareroo

A few e fawedi 9 4 |8 U 991 Fifem
(1) %9a (A) 3 (B)
(2) e (B) 3R (C)
(3) %9a (C) 3 (D)
(4) e (D) 3 (B)

Options :

212807131321. 1
212807131322.2
212807131323.3
212807131324. 4

Question Number : 567 Question Id : 21280732832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

These are the privileges to a private company :

(A) Only 2 members are required to form

(B) Only 2 directors are required to constitute the quorum
{(C) Shares can be transferred without consulting members
(D) They can starf business immediately after incorporation
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (A), (O) and (D) only

(4) (A), (B) and (D) only

Options :

212807131325. 1
212807131326.2
212807131327.3
212807131328. 4

Question Number : 567 Question Id : 21280732832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Pl ol ¥ Ferdranferame 3 ¥

(A) Tmior % foru Sae & safirrl o) swavassar @ &

(B) rorgfel ¥ Fmior & Torw et & Frdorel =61 swrervmrenen St &
(C) ¥rad = geaioRw & G}

(D) orae 3 gl g AR qy fpen o gerar §

iy few e forsredt | & Wl I 1 gu il

(1) 9a (A), (B) 3 (C)

(2) %9d (B), (C) 3 (D)

(3) HIE (A), (O) WD)

(4) %9a (A), (B) (D)

Options :

212807131325. 1
212807131326.2
212807131327.3
212807131328. 4

Question Number : 568 Question Id : 21280732833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List - I with List - IL

List -1 List - 11
(A) <Conglomerate () A merger occurring between companies in the same
industry
(B) Horizontal Merger () It takes place between 2 companies that deal in same

products in separate market

(C) Market Extension Merger (III) A merger between firms that are involved in totally
unrelated business activity

(D) Vertical Merger {IV) A merger between two companies producing different
goods for one specific finished products

Choose the correct answer from the options given below :

(1) (A)-IV), (B)-(ID), (C)-(D), (D)-(1I)

(2) (A, B)-[0), (O-(1V), (D)-(I0)
(3) (A, (B)-(D), (O-(ID), (D)-(IV)
(4)  (A)-(D), (B)-(II), (O)-(IID), (D}-(IV)

212807131330. 2
212807131331.3
212807131332. 4

Question Number : 568 Question Id : 21280732833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1 Q
llegedunia:

-



Question Key Details :

Key Value
Comprehension MCQ

Teit-1 § G-I 1 Taer i
qEi-1 Tefl-11

(A) et (WHE) () e whor A el F aen & aren frerg

(B) &ifersr fayeram (M) & ot o wes & wearg § Tafvt sl & syaaw et @

(C) s frean fyagH () & e ot o faerrr < srdafa s frael § sraar
oGS

(D) s faer vy us faftre ffide e & foro fafisr el 1 srgr 6@
areft & safrdf % qem Rree

= Teu u faeedi § | WE ST 1 99 it ;
(1) (A)1IV), (B)-(ID), (C)-(D, (D)~(1IT)

(2) (AL, B)-(D), (O-IV), (D)~(II)

(3)  (A)-(IID), (B)-(1), (O-(1D), (D)-(IV)

(4)  (A)-(D), (B)(I), (O)~(1D), (D)-(IV)

Options :

212807131331.3
212807131332. 4

Question Number : 569 Question Id : 21280732834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following are the external expansion of the firm.
(A) Mergers

(B) Franchising

(C) Initial public offer

(D) Acquisition

(E) Internal Expansion

Choose the correct answer from the options given below :
(1) (A), (B) and (E) only

(2)  (B) (C) and (E) only

(3)  (A) (B) and (C) only

(4)  (A) (B) and (D) only

Options :

212807131333, 1

212807131334. 2

212807131335.3
212807131336. 4

Question Number : 569 Question Id : 21280732834 Question Type : MCQ Option Shuffling : No Is Question Mandai
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 | l d -

-



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
Frefafas § 9 97 @ S0l % amr (Ird) fram E)

g feu o famedi 4 4 |8 T 1 w9 Fifew
(1) &ae (A), (B) ¥R (E)

(2) e (B), (O) 3T (B)

(3) % (A), (B) # (O)

(4) % (A), (B) # (D)

Options :

212807131333. 1
212807131334.2
212807131335.3
212807131336. 4

Question Number : 570 Question Id : 21280732835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Which of the following are the components of sales strategy.
(A) Product placement

(B) Core selling strategies

(C) Testimonials

(D) Price

(E) Promotion

Choose the correct answer from the options given below :
(1) (&) (B), (O and (D) only

(2) (A), (O), (D) and (E) only

(3)  (A) (B), (C) and (E) only

(4)  (B), (C), (D) and (E) only

Options :

212807131337, 1

212807131338. 2

212807131339.3
212807131340. 4

Question Number : 570 Question Id : 21280732835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1 | I d .

-



Question Key Details :

Key Value
Comprehension MCQ

Fretfafad § @ S T wrfa ¥ g £

(A) IR FresHEE
(B) gwx Tasmar qurifersn
(C) uviErus

(D) Hrad

(E) w&R

= feu v fawedi 8 O WE ST 1 T it
(1) %9 (A), (B), (C) 3 (D)
(2) E (A), (©), (D) i (E)
(3) % (A), (B), (C) ¥R (E)
(4) %ad (B), (O), (D) R (E)

Options :

212807131337. 1
212807131338.2
212807131339.3
212807131340. 4

Question Number : 571 Question Id : 21280732836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Partnership is a relationship between persons who have agreed to share profits of a business.
Carried on by all

Any of them acting for all

Carried on by a partner only

Carried on by all partners all the time

Carried on by the nominated partner

(
(
(
(
(

CICIGICIC

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (A), (B) and (E) only
(3) (A)only

(4) (B), (©) and (D) only

Options :

212807131341. 1
212807131342.2
212807131343.3
212807131344. 4

Question Number : 571 Question Id : 21280732836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details : .
s collegedunia:

-



Key Value
Comprehension MCQ

TrEer 1 iRl F ue W § R st sram § @y e w9 ¥ o wenfy wer # 8
(A) w5 gy foan s §
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Options :

212807131341. 1
212807131342.2
212807131343.3
212807131344. 4

Question Number : 572 Question Id : 21280732837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List - I with List - IL

List -1 List - IT

(A) Private placement (I)  Used to reduce labour turn over

(B) Rightsissue (II) Requires to issue a prospectus

(C) Offer to employee (IlI) Depends on institutional investors
(D) Public issue (IV) Deals with existing shareholders only

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(D), (O-(IV), (D)-(I)

(2)  (A)-I1D), (B)-(II), (O)-(1V), (D)-(T)
(3) (M-, B)-(V), C)-[, ( )-(ITI)
(4)  (A)-(ID, (B)-(IV), (O)-(0), (D)-(I)

212807131345. 1
212807131346. 2
212807131347.3
212807131348. 4

Question Number : 572 Question Id : 21280732837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Key Value .
s collegedunia:
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(1) (A)-(D, (B)-(T), (O-(IV), (D)-(I)
(2)  (A)-{ID, (B)-(1D), ©)-(IV), (D)-[0)
(3)  (A)-D), B)-(V). C)-(1), (D)-(II)
(4)  (A)-(ID), (B)-(IV), (O)-(0), (D)-(I)
Options :

212807131346. 2
212807131347.3
212807131348. 4

Question Number : 573 Question Id : 21280732838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List -1 List - I1
(A) Force acquisition (D  Back flip Acquisition

(B) Purchasing company becomes subsidiary of

purchased company () Reverse Acquisition
(C) Private company taking over a public company  (III) Friendly Acquisition
(D) Cordial acquisition (IV) Hostile Acquisition
Choose the correct answer from the options given below :
(1) (A)-ID, (B)}-(IV), (O-0), (D)-(T)
(2)  (A)-IV), (B)-(ID, (O-D), (D)-()
(3) (A0, (B)-(I), (O)-(I1D), (D)-(IV)
(4 (A-IV), (B)-(D), (O-(1D), (D)-(I)

Options :

212807131349. 1
212807131350. 2
212807131351. 3
212807131352. 4

Question Number : 573 Question Id : 21280732838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key : Value
s collegedunia:
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-1 Tell-11
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Hr49 fou 7o fawedi 4 4 |8 SO 999 Fifae

(1) (A<D, (B)-(IV), (O)-(D), (D)-(L)

(2)  (A)HIV), (B)-(IID, {O)-(I), (D)-(I)

(3)  (AI), (B)-(I), (OIID), (D)-(IV)

(4)  (A)-IV), (B)-(I), (O-~(1D), (D)-(II)

Options :

212807131349. 1
212807131350. 2
212807131351.3
212807131352. 4

Question Number : 574 Question Id : 21280732839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List - I with List - IL

List - 1 List - IT

{A) Product ()~ Distribution channel
{B) Price (Il) Popularity about product
{(C) Place (IlT) Brands, packing, labelling
(D) promotion (IV) Skimming price, Penetration Price

Choose the correct answer from the options given below :
(1) (A)D, (B)-(I), (O-(IV), (D)-(I)

(2)  (A)(ID, (B)-(IV), {O)-(I), (D)-(I)

(3) (A1), (B)-(IV), ([C)-(D), (D)-(1ID)

(4)  (A)-IV), (B)-(ID, {O)-(I), (D)-(I)

s 1355 1

212807131354.2

212807131355.3
212807131356. 4

Question Number : 574 Question Id : 21280732839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value |

Comprehension MCQ
gcollegeduniag
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o1 & -1 1 e $ifa
TEi-1 Tell-11

(A) SR () Toraam st mrey

(B) H&A (I) goure Y SR
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(1) (A=), (B)~(I), (O-(IV), (D)-(II)
(2) (A1, (B)-(IV), {O-(D), (D)-(I)
(3) (A, (B)-(IV), (C)-(), (D)-(1TN)
(4) (A)-(IV), (B)-(11D), {O-(I1), (D)-()

Options :

212807131353. 1
212807131354.2
212807131355.3
212807131356. 4

Question Number : 575 Question Id : 21280732840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - 1L
List -1 List - I

{A) Producer —» Consumer

{B) Producer — Retailer — Consumer

{(C) Producer — Wholesaler — Retailer — Consumer

(D) Producer — Agent — Wholesaler — Consumer — Retailer
Choose the correct answer from the options given below :

(1) (A, (B)-(), (CH-{IV), (D)-(T)

() (A)ID, (B-(V), (O-, (D}

(3) (A}, (B)-(1), (ORI, (DX(IV)

(4) (AN, (B)-(IV), (O-(ID), (D))

Options :

212807131357. 1
212807131358.2
212807131359.3
212807131360. 4

() Omnelevel
{I) Three level
(II) Directlevel
(IV) Two level

Question Number : 575 Question Id : 21280732840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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(1) (M), (B)-(1), (O-(IV), (D)-()

(2) (A, (B)-(V), {O-(1), (D)-(I)

(3)  (A)-(ID, (B)-(T), (O-(ID), (D)-(IV)

(4)  (A)-(ID), (B)-(IV), (O)-(11), (D)-{I)

Options :

212807131357. 1
212807131358.2
212807131359. 3
212807131360. 4

Sub-Section Number : 2
Sub-Section Id : 2128072518
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 576 Question Id : 21280732841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
Case Study

Vishal started a south Indian restaurant in old Delhi region. He invested 10 lakhs of his own
and borrowed ¥ 15 lakh from SBH Bank @ 10% p.a. The sales revenue for the first year was ¥ 5
lakhs while the cost of goods sold was ¥ 7 lakh. Vishal realised that earning rewards is a must for
a business to survive for long. In order to increase his sales he focused on customers satisfaction
and regularly collected customers feedback. He also advertised about his restaurant in the local
daily and offered discount coupons to customers who placed orders above ¥ 2000. This effort
enabled Vishal to increase his sales revenue to ¥ 15,00,000 with COGS at ¥ 10,00,000. Teday Vishal
has expanded his business by opening outlets in other parts of Delhi on his own.

Vishal's vision for the future is that he wants to be in business for himself but not by himself.
He aspires to give exclusive rights of his trade marked product to independent retailer in return for
their payment of royalties and conformance to standardized operating procedures.

Identify the most suitable channel of distribution for Vishal’s restaurant if he focuses enly on
Dine-in facility and avoids home delivery.

(1) Zero level

(2) Onelevel

(3) Twolevel

(4) Threelevel

Options :

212807131361. 1
s collegedunia:
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212807131362. 2
212807131363. 3
212807131364. 4

Question Number : 576 Question Id : 21280732841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Options :

212807131361. 1
212807131362. 2
212807131363. 3
212807131364. 4

Question Number : 577 Question Id : 21280732842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Case Study

Vishal started a south Indian restaurant in old Delhi region. He invested 10 lakhs of his own
and borrowed ¥ 15 lakh from SBH Bank @ 10% p.a. The sales revenue for the first year was ¥ 5
lakhs while the cost of goods sold was ¥ 7 lakh. Vishal realised that earning rewards is a must for
a business to survive for long. In order to increase his sales he focused on customers satisfaction
and regularly collected customers feedback. He also advertised about his restaurant in the local
daily and offered discount coupons to customers who placed orders above ¥ 2000. This effort
enabled Vishal to increase his sales revenue to ¥ 15,00,000 with COGS at ¥ 10,00,000. Teday Vishal
has expanded his business by opening outlets in other parts of Delhi on his own.

Vishal's vision for the future is that he wants to be in business for himself but not by himself.

He aspires to give exclusive rights of his trade marked product to independent retailer in return for
their payment of royalties and conformance to standardized operating procedures.

Identify the legal document that will bind Vishal and the independent retailer if he gives exclusive
rights of his trademarked product in return for royalty.
(1) Partnership Agreement
(2) Rent Agreement
(3) Franchise Agreement
(4) Sale Agreement
Options :
212807131365. 1
212807131366. 2

212807131367. 3
212807131368. 4

Question Number : 577 Question Id : 21280732842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Options :

212807131365. 1
212807131366. 2
212807131367. 3
212807131368. 4

Question Number : 578 Question Id : 21280732843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Case Study

Vishal started a south Indian restaurant in old Delhi region. He invested 10 lakhs of his own
and borrowed ¥ 15 lakh from SBH Bank @ 10% p.a. The sales revenue for the first year was ¥ 5
lakhs while the cost of goods sold was ¥ 7 lakh. Vishal realised that earning rewards is a must for
a business to survive for long. In order fo increase his sales he focused on customers satisfaction
and regularly collected customers feedback. He also advertised about his restaurant in the local
daily and offered discount coupons to customers who placed orders above ¥ 2000. This effort
enabled Vishal to increase his sales revenue to ¥ 15,00,000 with COGS at ¥ 10,00,000. Teday Vishal
has expanded his business by opening outlets in other parts of Delhi on his own.

Vishal's vision for the future is that he wants to be in business for himself but not by himself.
He aspires to give exclusive rights of his trade marked product to independent retailer in return for
their payment of royalties and conformance to standardized operating procedures.

Vishal aspires to give on exclusive rights of his trade marked product to independent retailer in
return for their payment of royality and conformance to standardized operating procedures in
future. Identify the form of expansion from the above lives.

(1) Internal Expansion

(2) Franchising

(3) Merger

(4) Acquisition

Options :
212807131369. 1
212807131370. 2

212807131371.3
212807131372. 4

Question Number : 578 Question Id : 21280732843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Options :

212807131369. 1

212807131370.2

212807131371.3
212807131372. 4

Question Number : 579 Question Id : 21280732844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Case Study

Vishal started a south Indian restaurant in old Delhi region. He invested 10 lakhs of his own
and borrowed ¥ 15 lakh from SBH Bank @ 10% p.a. The sales revenue for the first year was ¥ 5
lakhs while the cost of goods sold was ¥ 7 lakh. Vishal realised that earning rewards is a must for
a business to survive for long. In order to increase his sales he focused on customers satisfaction
and regularly collected customers feedback. He also advertised about his restaurant in the local
daily and offered discount coupons to customers who placed orders above ¥ 2000. This effort
enabled Vishal to increase his sales revenue to ¥ 15,00,000 with COGS at ¥ 10,00,000. Teday Vishal
has expanded his business by opening outlets in other parts of Delhi on his own.

Vishal's vision for the future is that he wants to be in business for himself but not by himself.

He aspires to give exclusive rights of his trade marked product to independent retailer in return for
their payment of royalties and conformance to standardized operating procedures.

‘At present Vishal has expanded his business by opening outlets in other parts of Delhi.” Which
method of expansion has he foilowed.

(1) Internal Expansion

(2) External Expansion

(3) Franchising

(4) Merger

Options :
212807131373. 1
212807131374.2

212807131375.3
212807131376. 4

Question Number : 579 Question Id : 21280732844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension Compl
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Options :

212807131373. 1
212807131374. 2
212807131375.3
212807131376. 4

Question Number : 580 Question Id : 21280732845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Case Study

Vishal started a south Indian restaurant in old Delhi region. He invested 10 lakhs of his own

and borrowed ¥ 15 lakh from SBH Bank @ 10%

p-a. The sales revenue for the first year was ¥ 5

lakhs while the cost of goods sold was ¥ 7 lakh. Vishal realised that earning rewards is a must for
a business to survive for long. In order to increase his sales he focused on customers satisfaction
and regularly collected customers feedback. He also advertised about his restaurant in the local
daily and offered discount coupons to customers who placed orders above ¥ 2000. This effort
enabled Vishal to increase his sales revenue to ¥ 15,00,000 with COGS at ¥ 10,00,000. Teday Vishal
has expanded his business by opening outlets in other parts of Delhi on his own.

Vishal's vision for the future is that he wants to be in business for himself but not by himself.

He aspires to give exclusive rights of his trade marked product to independent retailer in return for
their payment of royalties and conformance to standardized operating procedures.

Calculate the Gross Margin earned by Vishal during the first year of his Business ?

(1)  Profit - 2,00,000
(2) Loss ~ 2,00,000

(3) Profit - 12,00,000

(4) Loss - 12,00,000

Options :

212807131377. 1
212807131378.2
212807131379. 3
212807131380. 4

Question Number : 580 Question Id : 21280732845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Options :

212807131377. 1
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Question Number : 581 Question Id : 21280732846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Case Study

Vishal started a south Indian restaurant in old Delhi region. He invested 10 lakhs of his own

and borrowed ¥ 15 lakh from SBH Bank @ 10%

p-a. The sales revenue for the first year was ¥ 5

lakhs while the cost of goods sold was ¥ 7 lakh. Vishal realised that earning rewards is a must for
a business to survive for long. In order to increase his sales he focused on customers satisfaction
and regularly collected customers feedback. He also advertised about his restaurant in the local
daily and offered discount coupons to customers who placed orders above ¥ 2000. This effort
enabled Vishal to increase his sales revenue to ¥ 15,00,000 with COGS at ¥ 10,00,000. Teday Vishal
has expanded his business by opening outlets in other parts of Delhi on his own.

Vishal's vision for the future is that he wants to be in business for himself but not by himself.

He aspires to give exclusive rights of his trade marked product to independent retailer in return for
their payment of royalties and conformance to standardized operating procedures.

Calculate the Net Profit/Loss earned by Vishal during the second year.
(1)  Net Profit - ¥ 5,00,000

{2) Net Loss - ¥ 5,00,000

(3) Net Profit - ¥ 3,50,000

(4) Net Loss - ¥ 3,50,000
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Case Study

Vishal started a south Indian restaurant in old Delhi region. He invested 10 lakhs of his own

and borrowed ¥ 15 lakh from SBH Bank @ 10%

p-a. The sales revenue for the first year was ¥ 5

lakhs while the cost of goods sold was ¥ 7 lakh. Vishal realised that earning rewards is a must for
a business to survive for long. In order to increase his sales he focused on customers satisfaction
and regularly collected customers feedback. He also advertised about his restaurant in the local
daily and offered discount coupons to customers who placed orders above ¥ 2000. This effort
enabled Vishal to increase his sales revenue to ¥ 15,00,000 with COGS at ¥ 10,00,000. Teday Vishal
has expanded his business by opening outlets in other parts of Delhi on his own.

Vishal's vision for the future is that he wants to be in business for himself but not by himself.

He aspires to give exclusive rights of his trade marked product to independent retailer in return for
their payment of royalties and conformance to standardized operating procedures.

Identify the idea field that enabled Vishal to start his restaurant ?

(1) Naftural resource

(2) Existing product/service

(3) Trading related

(4) Service sector ideas

Options :
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Case Study

Vishal started a south Indian restaurant in old Delhi region. He invested 10 lakhs of his own
and borrowed ¥ 15 lakh from SBH Bank @ 10% p.a. The sales revenue for the first year was ¥ 5
lakhs while the cost of goods sold was ¥ 7 lakh. Vishal realised that earning rewards is a must for
a business to survive for long. In order to increase his sales he focused on customers satisfaction
and regularly collected customers feedback. He also advertised about his restaurant in the local
daily and offered discount coupons to customers who placed orders above ¥ 2000. This effort
enabled Vishal to increase his sales revenue to ¥ 15,00,000 with COGS at ¥ 10,00,000. Teday Vishal
has expanded his business by opening outlets in other parts of Delhi on his own.

Vishal's vision for the future is that he wants to be in business for himself but not by himself.

He aspires to give exclusive rights of his trade marked product to independent retailer in return for
their payment of royalties and conformance to standardized operating procedures.

Identify the promotion strategy adopted by Vishal when he advertised about his restaurant in the
local daily newspaper.

(1) Above the line

{2) Through the line

(3) Below the line

{(4) Outofline
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Case Study

Vishal started a south Indian restaurant in old Delhi region. He invested 10 lakhs of his own
and borrowed ¥ 15 lakh from SBH Bank @ 10% p.a. The sales revenue for the first year was ¥ 5
lakhs while the cost of goods sold was ¥ 7 lakh. Vishal realised that earning rewards is a must for
a business to survive for long. In order to increase his sales he focused on customers satisfaction
and regularly collected customers feedback. He also advertised about his restaurant in the local
daily and offered discount coupons to customers who placed orders above ¥ 2000. This effort
enabled Vishal to increase his sales revenue to ¥ 15,060,000 with COGS at ¥ 10,00,000. Today Vishal
has expanded his business by opening outlets in other parts of Delhi on his own.

Vishal's vision for the future is that he wants to be in business for himself but not by himself.
He aspires to give exclusive rights of his trade marked product to independent retailer in return for
their payment of royalties and conformance to standardized operating procedures.

Identify the promotion strategy adopted by Vishal when he offers discounts to customers who
place orders above ¥ 2,000
(1) Above the line
(2) Below the line
(3) Through the line
(4) Outofline
Options :
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Case Study

Vishal started a south Indian restaurant in old Delhi region. He invested 10 lakhs of his own
and borrowed ¥ 15 lakh from SBH Bank @ 10% p.a. The sales revenue for the first year was ¥ 5
lakhs while the cost of goods sold was ¥ 7 lakh. Vishal realised that earning rewards is a must for
a business to survive for long. In order to increase his sales he focused on customers satisfaction
and regularly collected customers feedback. He also advertised about his restaurant in the local
daily and offered discount coupons to customers who placed orders above ¥ 2000. This effort
enabled Vishal to increase his sales revenue to ¥ 15,00,000 with COGS at ¥ 10,00,000. Teday Vishal
has expanded his business by opening outlets in other parts of Delhi on his own.

Vishal's vision for the future is that he wants to be in business for himself but not by himself.
He aspires to give exclusive rights of his trade marked product to independent retailer in return for
their payment of royalties and conformance to standardized operating procedures.

“Vishal realised that earning rewards is a must for a business to survive for long’. Identify the
characteristic of business highlighted in the above line.

(1) Profit earning

(2) Entrepreneur’s presence

(3) Risk element

(4) Utility creation
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